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\What is the fall tormofAD, used with dates?
A, Auno Doming

i Assistant Director

¢, Aknowledgement Due

D, AfterDate

which of the following planets of our solar system
has least mass?

A. Neptune ~

B. Jupitar

C. Mars

D. Mereury

Ozone gas is presentinwhich layer of atmosphere?
A. Stratosphere

B. Troposphere-

C. lonosphere

D. Mesosphere

Who built the Khajuraho temples ?
A. Holkars -
B. Scindias
C. Bundcla
D. Chandela

At which the following places is the famous
Kailasha Temple located?

A. Ajanta

B. Badami

C. Chittor -

D. Ellora

Which of the following is NOT a Union Territory ?
A. Goa -

B. Lakshadwecp

C. Dadarand Nagar Haveli

D. Chandigarh

How many spokes are there in the Dharma Chakra
(Ashok Chakra) depicted on the National Flag of
India?

A. 16

B. 20

C. 24~

D. 32

The headquarter of RBI s situated at:
A. Delbi

B. Kolkata

', Chennai

13, Mumbaj ¢

9)

10)

1)

12)

13)

14)

15)

¥

Thar Desertis situated in -
A. Rajasthan

3. West Bengal

C. Tamilnadu

. Uttarakhand »

—
~

Which of the following is the highest mountain
peak in Maharashtra?

A. Taramati

B. Anjaneri -

C. Salher

D. Kalsubai

National Rural Health Mission (NRHM) was
launched inthe year:

A. 2003 ¢

B. 2004
C. 2005°
D. 2006

Who was called the ‘Tron Man of India’?
A. Sardar Ballabhbhai Patel -

B. Surendranath Bannerjee

C. Bipin ChandraPal

D. LalaLajpatRai .

Which sea is to the west of Maharashtra?
A. Black

B. Arabian -

C. Labrador

D. Timor

Marathi Language Day is Celebrated on
A. 15thFebruary

B. 7thFebruary

C. 20th February

D. 27th February -

The river Koyna joins the river Krishna at
A. Satara

B. Karad -

C. Kolhapur

D. Mahabaleshwar

Set - D (Bacteriological Assistant'Laboratory Technician)
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16) A bag contains 7 blue balls and 5 yellow balls. It
two balls are sclected at random, what is the

probability that none is yellow?

A. S
33
B. S
22
C. 7 .
22
D. 7
33
17) Damodar is 26 years older than his son. In four

years, his age will be twice the age of his son. The
presentage of his son is:

A. 16years

B. 18years

C. 20years %\
D. 22years ,

18) Introducing a girl, Niraj said, ‘Her mother is the
only daughter of my mother-in-law’. How is Niraj
related to the girl?

A. Husband -

B. Brother XL

C. Father {

D. Uncle

19) Covid—19iscaused by

A. Bacteria
B. Parasite X
C. Virus -
D. Fungus
20) Madhuri, who is facing South turns to her left and
walks 15 metres, then she turns to her left and
walks 7 metres, then facing west she walks 15
metres. How far is she from her original position?
A. Tm V4
B. 10m
C.5m
D. &m

Set - D (Bacieriological Assis_tzml/lmbnmmry Technician)

21)

22)

23)

1f Sunday falls on 30th April, what day woul o
31stMay?

A. Saturday
Sunday -
Monday
Wednesday

7

O aw

BN AV, T Rt

120 | 126 320

12
8

14
16

i

oow»

Deepak has some hens and some goats. If the total
number of animal heads is 90 and the total number
of animal feet is 248, what is the total number of

- goats Deepak has ?

24)

25)

A. 32
B. 36
C. 34-
D. Cannotbe determined

In class the average age of 75 students is 7 years. If
along with the class teacher, the average is 7.5
years. What is the age of teacher age?

A. 37 5years -
B. 45years -
C. 42years

D. 39years

\\

In a factory of 140 machine parts, 5 percent were
defective. In a factory of 80 machine parts, 10
percent were defective. For the two factory
combined, what percent of the machine parts were
defective?

A. 6.50%

B. 7%

C. 7.50%

D. 8% *
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26) The correct sequence of communication s ...
AL Message Sender Receiver
© B, Moessage Receiver Sender
C. SenderMessage Receiver

D. Receiver Sender Message

27) AB,DE,GH,?,MN

A1)/

B. HI /
C. JK ’]\
D. None 7/

28) Pickthe oddone
A. Bengali
B. Marathi
C. English» 7/

D. Kannad /

29) Inarow of'trees, one tree is seventh from either end
of the row. How many trees are there in the row?
A. 8>
B. 13
C. 14
D. 11

30) In a class of 45 students, a boy is ranked 20th.
When two boys joined, his rank was dropped by
one. What is his new rank from the end?

A. 25th
B. 26th
C. 27th
D. 28th -

31) ST3[EE 3T 3TesT
A. Ty
B. WX //
C. afor -
D. TSI Tl

32) guel EEN @ e A wevltr gl
WA HUD] PITT?
A. G T 1 ST ATET,
» B. BRISATAIS! 3AH WET BV,
>§[ C. 3T 3Te) TN T Bl
D. gy ST ST,

33) ared T} AT SrATET AN AHTAR BIUTI?

A. TRITTSTE

B. G HTel
C. q-ATRASH
D. IHAU

34) GO AT AT feaTeiares SN
A. IER

B. Gaed
C. TKIg

D. 3qd

35) YT T IR AT
A.ﬁa N
B. ¥l
c.¥g
D. W% 7
36) AT
A. 3D TOIBRT
B. M1 @107 -
C. 2R To8
D. T

37) feseu e GHMI TG o 2T Il
BICE)
A. |4
B. fffts . //

C. qui (

D. {1

5 Set- D (Bacteriological Assistant/Laboratory Technician)
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38) SR e Roreiian o snw.
Q) AN ORI AR TS e,
A, ol
B. @
C. T
D. GYETH

39) g HTeE 3T - Yol AT .
A. R AT,
B. W Aawd IS,
C. & AT NS
D. QI ATaS L.

40) "IF TS TR I B I PP
R FTAR SRS TR BT AT
AfSTHE Bl AT fepamaeTt
TIoT BRI AT
A. el
B. Geparil

e i A ot ant il abors Technician) 6
et o 83 ,4,B-ﬁ_mczm!ai'r:.smlA».r.:umm/l aboratory Tec -

42) SRR FETE FER S T g

ArETERTa e L.
A, STl 3Ty

B. areeaifl 3y

c. fpafaziau

D. s Ty

44y TTE T AT TRTS] THH] | (FTHPR

3l

A. 3BT AHDIR

B. IHHIAGPR %
C. @Rl PR/
D. SYATNDBR -

45) RO &aT | AR
TR @R | i sigErE AR ||
T PTG BIR NI,

A. TAH AAFDR
B. AT IADR
C. DTG ISP -
D. T AGDIR
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i)

A7

43)

49)

50)

51)

52)

wpmsure Fvemetyour father.
A, Verd g

B. Preposition

¢. Pronoun

D: Interjection

Make the adjective of'the word 'occasion.’
occasioned

accusational

occasional

occasionally .

DOow>

Choose the correct conjunction :
She bought a car, she was too young to

learn to drive.
A if

B. because -
C. although .
D. ifnot

¥

Iwillsingifhe
. willaskme °
asksme
askedme

has asked me

SIS

Hesaid, “Please helpme.”
Choose the option with the correct indirect from of

the above.

A. Hepleased meto helpme.

B. Herequested meto help him. -
C. Heordered me abouthelping.
D. HesaidIneed help

Choose appropriate antonym for the word

‘Gloomy’

A. idle

B. Wise

C. Cheerful -
D. Sad

Choose the correct answer from the following and

fill in the blank:
A doctor who studies and treats mental illness

¥

A. psychiatrist -
B. psychologist

C. psychoanalyst
D. psychiatry

53)

54)

55)

56)

57)

58)

59)

60)

Give the meaning of 'To call ita day’.
A. Tohaveagoodday.
*B. Toworkall the day.
C. Tohaveafree day.
D. Tostop doing work of the day.

Choose the correct meaning of the given phrase or
idiom:

Lookinto—

A. toexamine thoroughly

B. towatch -

C. toobserve

D. tofollow /

Which of the following word is correctly spelt?

A. administration ..
B. convorsation
C. creatyre

D. devolop -

Meaning of "Fly by night"

A. Nightjourney - |
B. ABirdbusy innight I‘
C. Cat'seye ,
D. Swindler

I the apartment all day yesterday.
A. Clear

B. Washed out

C. Cleaned Up

D. Noneofthese

Choose the word spelt correctly.
A. Substandial
B. Substantial

C. Substential -
D. Substendial
He competed me for the prize.
A. Off ~

B. With

C. To

D. Off

He avery good grade in the examination.
A. Earned '

B. Given

C. Received -

D. None ofthese

Set - D (Bacteriological Assistant/Laboratory Technician)
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62)

64)

63)

66)

et - D (Bacweriological Ab

Asimple asexual spore which develops by budding
iwknownas

A. Chlamydospore .

B. Blastospore

C. Arthospore

D. Conidia

Who demonstrated that open tubes of broth
remained frec of bacteria when air was frec of dust.
A. Abbc Spallanzani -

B. John Tyndall

C. Francisco Redi

D. Pastcus

Salt and sugar preserve foods because they
A. Makethemacid

B. Produce ahypotonic environment

C. Deplete nutrients

D. Produceahypertonic environment -

Direct microscopic count can be done with the aid
of

A. Neuberg chamber

B. Anaerobic chamber

C. Mineral oil

D. Oliveoil

The image obtainedina compound microscope is
A. Real

B. Virtual *

C. Realinverted

D. Virtual inverted

Compound microscope was discovered by
A. Antonyvon -

3. Pasteur

¢, Johnsen & Hans

3. Noneofthese

sistant/Laboratory Technician)

8

67)

08)

69)

70)

71)

72)

73)

Autoclaving is carricd at
A. Dry heat
B. Atmospheric pressure

C. 1200C %

D. Allofthese

Algacarcrichin
A. Carbohydrates
B. Proteins °

C. Vitamins

D. Allofthese

Temperature used forhotair oven is
A. 1000 C for I hour
B. 1200 C for I hour
C. 1600 C for I hour
D. 600 C for 1 hour

In the medium other than nutrients, If any
substance is used in excess, that medium is

X

A. Enriched medium -
B. Special medium
C. Enriched medium
D. None ofthese

The principle involved in the streak plate methodis
A. Separation

B. Streaking -

C. Tsolation

D. Dilution

Wilson and Blair medium is used for isolation of
A. Staphylococci

B. Salmonella typhosa

C. Vibrio cholcrae

D. Shigellashigac

Shigella was firstisolated by
A. Shiga.

B. Schmitz >\<
C. Sonnci :

D. RobertKoch
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wgy The erderly increase in the quantity of all of the

cellutarcomponents isknown as 8(
) Amutation that produces termination codon is

A, Reproduction
A. Mis-sense mutation

. B. Growth
3. Neutral mutation

N (. Binary fission ‘
h C. Non-scnsemutation

—_—
L)

FA : .
! D. None of these
. Reverse mutation

+3) For sterthization of fermentation equi
73 { juipment the  81) Theresoluti i
- i solution powe : 3
method followedis ‘ power of the compound microscope
is
A. Radiation A. 0.2mi
. 0.2 micron
B. Chemicals .
: B. 0.2millimeter
C. Heating :
& C. 0.2 Angstronunits -
D

D. Allofthese - . 0.2 centimeter

76) Sourccoflightin fluorescence microscopyisfrom  82) Electronmicroscope gives magnification upto

A. Mercury lamp A. 100X
B. Sunlight B. 2000X
C. Bothaandb . ‘3{ C. 50,000X -
D. Noneofthese D. 2,00,000X
77) Inelectron microscope source ofelectronsisfrom  83) The lethal dose required to kill 50% of the lab
A. Mercury lamp animals tested under standard called
B. Tungstenmetal A. 1D
C. Bothaandb )\,5 B. LD50 -
D. Noncofthese -« - C. IDSO
D. MLD
78) If the vectors transmit the infection mechanically
they are called 84) Scparation of asingle bacterial colony s called
A. Biological vectors - A. Isolation
B. Mechanical vectors B. Separation }(
C. Biological reservoir C. Purcculturing
D. Allofthese

D. Bothaandc

acts as a spreading 85) Which of the following induces dimerisation of

79) Which is the following enzyme
factor? thymine?
A. Hyaluronidasc A. X-rays
B. Cosgulase B. UV.rays - X
C. Catslase C. a-rays ‘
D. Noneofthese

13, DNase

eian)

0 Set =) (ll:wtcriolugiml Assistant/Laboratory Techni
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861 The medium used in membrane filter technique
WS

AL EMBagar

/B. EMR-Vpmedium*

\

. Lactose broth

D. Endoagar

87) Lysolisa

A, Sterilent

D. Antifungal agent "

Disintectant

Aatiscptic

88) Which ofthe following is a neutral stain?
\\[ A, Picricacid
)\\Q' B. Gmicmsa
C. Neutralred -
D. Malachite green
89) Pcptone water medium is an example for
A. Synthetic medium - -
B. Semisynthetic medium
C. Differential medium -
D. Noneofthese

The method in which the cells are frozen
dehydrated is called

90)

A. Pasteurization
B. Dessication
C. Disinfection

D. Lypophilization -

91y Thermal deathtimeis
A. Time required to kill all cells at a given
‘ temperature
’:% I3, Temperaturethatkillsall cellsina given time

. Timeand temperature needed tokill all cells
3. Alloftheabove.
e - 13 (Bacieniologicsl Assistant/Laboratory Technician)

SDEE

92)

93)

94)

95)

96)

97)

The identification of bacteria by serologic tests is
based on the presence of specific antigens, Which
of the following bacterial components g leagt
likely to contain useful antigens?

A. Capsule

3. Cellwall

C. Flagella

D. Ribosomes

—

The organism which grows best above 45°¢

W

are
called

A. psychrophilic
B. mesosphilic
C. thermophilic -
D. any ofthese
Lag phase is alsoknown as

A. period of initial adjustment -
B. transitional period

C. generation time

D. none ofthese

Some organisms can use reduced inorganic
compounds as electron donors and are termed as
A. lithotrophs

B. phototrophs

C. chemotrophs -

D. photo-organotrophs

The predominant micro-organisms in frozen foods
are

A. Bacteria

B. micro-coccus

C. yeastand moulds - )1£

D. noneofthese

The yoghurt is madc from

A. Lactobacillus bulgaricus - )i
B. Streptococcus thermophiles 7
C. S.cremoris

D. mixed culturc of (a) and (b)
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oplasmasare difterent from other bacteria by?

L o MY 100) Which of the following is used for the analysis of
| A, Prosse” LchBIBEIGE compositional propertics of DNA?
R. Presence of Techoic acid incell wall - A. Southern blotting
f‘ presence of Lipoproteinincell wall B. Northem blotting
- Absence of cell wallitself, C. PCR - /
B D. CHEF ‘
?5) Blotting describes the ....ooevvnnenee. OF nucleic
acids

A. Monitoring

B. Immobilization *
C. Racing

D. Comparison

Rough Work
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